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What if a and {3 are equal?

sin(o+a)= SinolcoS + 05X 8ol
QsinccoSX

cos(a + cx) — CoS¢CoSx — XS X
2 .2
€l - §in ¢
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Pyinagorean Tdentifies - %
Sin'0+cosd =/ | + cot’0=CsC® 4on 4 |=5¢0

Swmé Diffexance |denthties:
Cos (e Q': cosHcosP T SInXELN B
Sin(o X p) = Sinelcos B L cosxgin N

Double Angle:

8in (20) = 2sin®- cos©

CoS (_26) = COSQG -8 inze C!)Sﬂ‘9 - (l" (_DS’lb>
Cos(26) = |-2sin © ZCOSILB -1

(oS (20) = 2cos 0|
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Ex6:  Prove sinosin 8

Co 55 b -sincisin B "M% Sino(-Sln@
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Ex7: Prove cos(x— %) + cos(x+ %) =COSX

C0S ¥- cos% T et ng 'I’(‘,DSX(DSTr/g -M

2¢cps X Cos %3
2 '/2'(‘.08 *
cosx J/
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Ex8: Pr ov:ﬂ? tan 0 1 +sect \ ﬁgcdsfi 0
. pand 1+ sec 9 tan 6

ton D (l’rsece)
Eand (| ’rsec@ tan(lFs ech)

;bané’m +SeC63
tan(1tsecO)

2
SC(}O tan'D + ||+ 2sec + €€C D
ton (| +5<O)

25¢C0 25O
() -\-S(C@B

2%ecH (EG\Q +0
tan® (l+§\®§

\ Losh
9959 Sinb /
2. _ esc®
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